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Abstract

Use of AES is desired as part of the IEEE 802.11i, the Specification for Enhanced Security. A combination of counter mode encryption and CBC-MAC authentication is proposed here. These modes have been used and studied for a long time, with well-understood cryptographic properties, and no known patent encumbrances. They provide for good security and performance, whether implemented in hardware or software. Sample source code and test vectors are provided. 

1 Motivation

IEEE Std 802.11-1999 is the wireless LAN standard. AES has many properties that are desirable for securing traffic on wireless networks. However, any encryption algorithm can be used in many different ways, each of which will have different performance and security characteristics. Important criteria for comparison of cryptographic algorithms and protocols include:

	· Patent Status
	· Cleartext Integrity Coverage

	· Size of Implementation
	· Simplicity of Key Management

	· Power Consumption
	· Packet Overhead

	· Speed
	· Crypto Confidence


These criteria are discussed in a separate presentation (IEEE 802.11-01/634r1). In that presentation, the use of OCB mode is compared to this proposal, called CTR+CBC-MAC. Since that presentation was created, we have started calling the proposal CCM for short. The purpose of this document is to completely specify CCM, allowing the transforms to be evaluated and implemented with confidence.

To allow CCM to be used for other security functions within the 802.11 arena we first specify a generic CCM mode suitable for a large number of applications. We then specify the exact manner in which the CCM mode is used to secure 802.11 MPDUs. 

2 Generic CCM mode

CCM is a generic authenticate-and-encrypt block cipher mode. CCM is currently only defined for use with block ciphers with a 128-bit block size, such as AES. The CCM ideas can easily be extended to other block sizes, but this will require further definitions.

For the generic CCM mode there are two parameter choices to be made. The first choice is M, the size of the authentication field. The choice of the value for M involves a trade-off between message expansion and the probability that an attacker can undetectably modify a message. Valid values are 4, 6, 8, 10, 12, 14, and 16 octets. The second choice is L, the size of the length field. This value requires a trade-off between the maximum message size and the size of the Nonce. Different applications require different trade-offs, so L is a parameter. Valid values are 2 to 8 octets  (the value L=1 is reserved).

	Name
	Description
	Field Size
	Encoding of field

	M
	Number of octets in authentication field
	3 bits
	(M-2)/2

	L
	Number of octets in length field
	3 bits
	L-1


Parameters of CCM mode

2.1 Inputs

To send a message the sender must provide the following information:

· An encryption key K suitable for the block cipher.

· A nonce N of 15-L octets. Within the scope of any encryption key K, the nonce value shall be unique. That is, the set of nonce values used with any given key shall not contain any duplicate values. Using the same nonce for two different messages encrypted with the same key destroys the security properties of this mode.

· The message m, consisting of a string of l(m) octets where 0 ( l(m) < 28L. The length restriction ensures that l(m) can be encoded in a field of L octets.

· Additional authenticated data a, consisting of a string of l(a) octets where 0 ( l(a) < 264. This additional data is authenticated but not encrypted, and is not included in the output of this mode. It can be used to authenticate plaintext headers, or contextual information that affects the interpretation of the message. Users who do not wish to authenticate additional data can provide a string of length zero.

	Name
	Description
	Field Size
	Encoding of field

	K
	Block cipher key
	Depends on block cipher
	String of octets.

	N
	Nonce
	15-L octets
	Not specified

	m
	Message to be encrypted and sent
	l(m) octets
	String of octets.

	a
	Additional authenticated data
	l(a) octets
	String of octets.


2.2 Authentication

The first step is to compute the authentication field T. This is done using CBC-MAC. We first define a sequence of blocks B0, B1, ... Bn and then apply CBC-MAC to these blocks.

The first block B0 is formatted as follows.

	Octet no:
	0
	1 ... 15-L
	16-L ... 15

	Contents:
	Flags
	Nonce N
	l(m)


The value l(m) is encoded in most-significant-byte first order.

The Flags field is formatted as

	Bit no:
	7
	6
	5
	4
	3
	2
	1
	0

	Contents:
	Reserved
	Adata
	
	M
	
	
	L
	


The Reserved bit is reserved for future expansions and should always be set to zero. The Adata bit is set to zero if l(a)=0, and set to one if l(a)>0. The M field encodes the value of M as (M-2)/2. As M can take on the even values from 4 to 16, the 3-bit field can take on the values from 1 to 7. The L field encodes the size of the length field used to store l(m). The parameter L can take on the values from 2 to 8 (the value L=1 is reserved). This value is encoded in the 3-bit field using the values from 1 to 7 by choosing the field value as L-1 (the zero value is reserved).

If l(a)>0 (as indicated by the Adata field) then one or more blocks of authentication data are added. These blocks contain l(a) and a encoded in a reversible manner. We first construct a string that encodes l(a).

If 0 < l(a) < 216-28 then the length field is encoded as two octets which contain the value l(a) in most-significant-byte first order.

If 216-28 ( l(a) < 232 then the length field is encoded as six octets consisting of the octets 0xff, 0xfe, and four octets encoding l(a) in most-significant-byte-first order. 
If 232 ( l(a) < 264 then the length field is encoded as ten octets consisting of the octets 0xff, 0xff, and eight octets encoding l(a) in most-significant-byte-first order. 

This is summarized in the following table. Note that all fields are interpreted in most-significant-byte first order.
	First two octets 
	Followed by
	Comment

	0x0000
	
	Reserved

	0x0001 ... 0xFEFF
	
	For 0 < l(a) < 216 - 28

	0xFF00 ... 0xFFFD
	
	Reserved

	0xFFFE
	four octets l(a)
	For 216 - 28 ( l(a) < 232

	0xFFFF
	eight octets l(a)
	For 232 ( l(a) < 264


Length encoding for additional authentication data

The blocks encoding a are formed by concatenating this string that encodes l(a) with a itself, and splitting the result into 16-octet blocks, padding the last block with zeroes if necessary. These blocks are appended to the first block B0.

After the (optional) additional authentication blocks have been added, we add the message blocks. The message blocks are formed by splitting the message m into 16-octet blocks, padding the last block with zeroes if necessary. If the message m consists of the empty string, then no blocks are added in this step.

The result is a sequence of blocks B0, B1, ..., Bn. The CBC-MAC is now computed by:

X1 := E( K, B0 )

Xi+1 := E( K, Xi ( Bi )    for i=1, ... , n
T := first-M-bytes( Xn+1 )

where E() is the block cipher encryption function and T is the MAC value. Note that the last block Bn is XORed with Xn and encrypted with the block cipher to give T.

2.3 Encryption

To encrypt the message data we use CTR mode. We first define the key stream blocks by

Si := E( K, Ai )

for i=0, 1, 2, ... . 

The values Ai are formatted as 

	Octet no:
	0
	1 ... 15-L
	16-L ... 15

	Contents:
	Flags
	Nonce N
	Counter i


where i is encoded in most-significant-byte first order. 

The Flags field is formatted as

	Bit no:
	7
	6
	5
	4
	3
	2
	1
	0

	Contents:
	Reserved
	Reserved
	
	0
	
	
	L
	


The Reserved bits are reserved for future expansions and shall be set to zero. Bit 6 corresponds to the Adata bit in the B0 block, but as this bit is not used here, it is reserved. Bits 3, 4, and 5 are set to 0. This ensures that all the A blocks are distinct from B0, which has the non-zero encoding of M in this position. Bits 0, 1, and 2 contain L, using the same encoding as in B0.

The message is encrypted by XORing the octets of message m with the first l(m) octets of the concatenation of S1, S2, S3, ... . Note that S0 is not used to encrypt the message.

The authentication value U is computed by encrypting T with the key stream block S0 and truncating it to the desired length.

U := T ( first-M-bytes(S0 )

2.4 Output

The final result c consists of the encrypted message m, followed by the encrypted authentication value U.

2.5 Decryption

To decrypt a message the following information is required:

· The encryption key K.

· The nonce N.

· The additional authenticated data a.

· The encrypted and authenticated message c.

Decryption starts by recomputing the key stream to recover the message m and the MAC value T. The message and additional authentication data is then used to recompute the CBC-MAC value and check T. 

If the T value is not correct, the receiver shall not reveal any information except for the fact that T is incorrect. In particular, the receiver shall not reveal the decrypted message, the value T, or any other information. 

2.6 Restrictions

All implementations shall limit the total amount of data that is encrypted with a single key. The sender shall ensure that the total number of block cipher encryption operations in the CBC-MAC and encryption together shall not exceed 261. (This allows close to 264 octets to be encrypted and authenticated using CCM, which should be more than enough for most applications.) Receivers that do not expect to decrypt the same message twice may also implement this limit.

The recipient shall verify the CBC-MAC before releasing any information such as the plaintext. If the CBC-MAC verification fails, the receiver shall destroy all information, except for the fact that the CBC-MAC verification failed.

2.7 Security claim

We claim that this block cipher mode is secure against attackers limited to 2128 steps of operation if the key K is 256 bits or larger. There are fairly generic precomputation attacks against all block cipher modes that allow a meet-in-the-middle attack on the key K. If these attacks can be made, then the theoretical strength of this, and any other, block cipher mode is limited to 2n/2 where n is the number of bits in the key. The strength of the authentication is of course limited by M.

Users of smaller key sizes (e.g. 128-bits) should take precautions to make the precomputation attacks more difficult. Repeated use of the same nonce value (with different keys of course) must be avoided. One solution is to include a random value within the nonce. Of course, a packet counter is also needed within the nonce. Since the nonce is of limited size, a random value in the nonce provides a limited amount of additional security.

2.8 Security proof

Jakob Jonsson from RSA Laboratories has developed a security proof of CCM. The resulting paper has been submitted for publication, so it will be available to everyone very soon. The proof shows that CCM provides a level of confidentiality and authenticity that is in line with other proposed authenticated encryption modes, such as OCB mode.
2.9 Rationale

The main difficulty in specifying this mode is the trade-off between nonce size and counter size. For a general mode we want to support large messages. Some applications use only small messages, but would rather have a larger nonce. Introducing the L parameter solves this issue. The parameter M gives the traditional trade-off between message expansion and probability of forgery. We recommend choosing M at least 8.

The CBC-MAC is computed over a sequence of blocks that encode the relevant data in a unique way. Given the block sequence it is easy to recover N, M, L, m, and a. The length encoding of a was chosen to be simple and efficient when a is empty and when a is small. We expect that many implementations will limit the maximum size of a.

The encryption is a straightforward application of CTR mode. As some implementations will support a variable length counter field, we have ensured that the least significant octet of the counter is at one end of the field. This also ensures that the counter is aligned on the block boundary.

By encrypting T  we avoid all the collision attacks on CBC-MAC mode. If the block cipher behaves as a pseudo-random permutation, then the key stream is indistinguishable from a random string. Thus, the attacker gets no information about the CBC-MAC results. The only avenue of attack that is left is a differential-style attack, which has no significant chance of success if the block cipher is a pseudo-random permutation.

To simplify implementation we use the same block cipher key for the encryption and authentication functions. In our design this is not a problem. All the A blocks are different, and they are different from the B0 block. If the block cipher behaves like a random permutation, then the outputs are independent of each other, up to the insignificant limitation that they are all different. The only places where the inputs to the block cipher can overlap is an overlap between an intermediate value in the CBC-MAC and one of the other encryptions. As all the intermediate values of the CBC-MAC computation are essentially random (because the block cipher behaves like a random permutation) the probability of such a collision is very small. Even if there is a collision, these values only affect T, which is encrypted so that an attacker cannot deduce any information, or detect any collision.

Care has been taken to ensure that the blocks used by the authentication function match up with the blocks used by the encryption function. This should simplify hardware implementations, and reduce the amount of byte-shifting required by software implementations.

2.10 Suggestions for the nonce value

The main requirement is that, within the scope of a single key, the nonce values are unique for each message. A common technique is to number messages sequentially, and to use this number as the nonce. Sequential message numbers are also used to detect replay attacks and to detect message reordering, so in many situations (e.g., IPsec ESP) the sequence numbers are already available.

Users of CCM, and all other block cipher modes, should be aware of precomputation attacks. These are effectively collision attacks on the cipher key. Let us suppose the key K is 128 bits, and the same nonce value N0 is used with many different keys. The attacker chooses a particular nonce N0. She chooses 264 different keys at random and computes a table entry for each K that she chose containing a pair of the form (K,S1). (Given the key and the nonce, computing S1 is easy.) She then waits for messages to be sent with nonce N0. We will assume the first 16 bytes of each message are known so that she can compute S1 for each message. She looks in her table for a pair with a matching S1 value. She can expect to find a match after checking about 264 messages. Once a match is found, the other part of the matched pair is the key in question. The total workload of the attacker is only 264 steps, rather than the expected 2128 steps. Similar precomputation attacks exist for all block cipher modes.

The main weapon against precomputation attacks is to use a larger key. Using a 256-bit key forces the attacker to perform at least 2128 precomputations, which is infeasable. In situations where using a large key is not possible or desirable (e.g., due to the resulting performance impact), users can use part of the nonce to reduce the number of times any specific nonce value is used with different keys. If there is room in the nonce, the sender could add a few random bytes, and send these random bytes along with the message. This makes the precomputation attack much harder, as the attacker now has to precompute a table for each of the possible random values. An alternative is to use something like the sender’s Ethernet address. Note that due to the widespread use of DHCP and NAT, IP addresses are rarely unique. Including the Ethernet address forces the attacker to perform the precomputation specifically for a specific source address, and the resulting table could not be used to attack anyone else. Although these solutions can all work, they need careful analysis and almost never entirely prevent these attacks. Where possible, we recommend using a larger key, as this solves all the problems.

2.11 Efficiency

Encrypting and authenticating the empty message, without any additional authentication data, requires 2 block cipher encryptions. For each block of additional authentication data one extra encryption is required (if you include the length encoding). Each message block, requires 2 encryptions. The worst-case situation is when both the message and the additional authentication data are a one-octet string. In this case, CCM requires 5 encryptions.

CCM results in the minimal possible message expansion; the only bits added are the authentication bits. 

Both the CCM encryption and CCM decryption operations require only the AES encryption function. In AES, the encryption and decryption algorithms have some significant differences. Thus, using only the encrypt operation can lead to a savings in code size or hardware size. 

2.12 Patents

The authors hereby explicitly release any intellectual property rights to CCM to the public domain. Further, the authors are not aware of any patent or patent application anywhere in the world that covers CCM mode. It is our belief that CCM is a simple combination of well-established techniques, or as the patent lawyers would say: it is obvious to a person of ordinary skill in the arts. 

3 CCM for IEEE 802.11 MAC security

For the security-enhanced IEEE 802.11 MAC, we propose the use of CCM with AES as the block cipher and the parameters L=2 and M=8. This gives us a nonce of 13 octets. 

Given the recent discussions on the IEEE 802.11 mail list, we allow for a 48-bit IV value. Details of the nonce construction are easily adapted to different situations.

The nonce N consists of a single “reserved” octet with value zero, followed by the 6-octet IV field, followed by the 6-octet Address 2 field of the MPDU (the Transmitter Address (TA)). This results in the following counter block structure:

	Octet no:
	0
	1-13
	14-15

	Contents:
	Flags
	Nonce N
	Counter i

	
	
	Reserved

(octet 1)
	IV

(octets 2-7)
	TA

(octets 8-13)
	


The Address 2 field of the MPDU is always the MAC address of the physical transmitter.

The message m consists of the MPDU payload, from the first octet following the IV field to the last data octet.

The additional authenticated data a consists of the entire MAC header starting with the Frame Control word and up to but not including the IV field. (This is called the MAC header in the IEEE 802.11 specifications.) Mutable fields in this sequence of octets are set to zero, irrespective of their value in the MAC header. The following fields are mutable:

· The retry bit in the Frame Control word. Not authenticating this bit allows retries to be retransmitted. If this bit were included in the authentication then the MPDU would have to be re-encrypted with the new bit value, and this requires a new nonce. In other words, we would have to assign a new IV value, with all the associated problems. Note that recomputing the authentication with a different additional authentication data but the same nonce is not allowed by the CCM specifications.

· The 2-octet Duration field. This is a purely PHY-level field, and might change if the packet is retransmitted at a different PHY speed. Thus it is excluded for the same reason as the retry bit.

Any fields added in future to the MAC header are automatically included by this definition. Mutable portions of any new MAC header fields are set to zero for the authentication calculation. That is, mutable values are zeroed before passing them as additional authentication data to the CCM encryption/decryption function.

The current MAC header has up to 30 octets, which together with the 2 length octets fits in 2 blocks. This means that, in total, three AES encryptions are required before processing of the actual message data starts. If the two-octet QOS field is added, this can increase to four AES encryptions, but only for wireless AP-to-AP traffic that requires the four-address frame format.

3.1 Rationale

For IEEE 802.11i, we really want a nonce that contains both the IV and the transmitter’s MAC address. Together these ensure that the nonce is unique, even for the broadcast key, and it allows each sender to keep its own IV counters. The choice L = 2 is the simple to implement on many platforms, and it allows for future extensions of the packet size up to 216-1 octets. The extra octet left over in the nonce is set to a fixed value. Care has been taken to keep a reasonable alignment of all the fields in the nonce compared to the 128-bit block in which the nonce appears.

The choice M = 8 gives a reasonable compromise between bandwidth overhead and security. 

The choice of a is a simple one. If the header fields are not authenticated, then they cannot be relied upon. It might be possible to create a big list of which fields to authenticate for each type of message. Such an approach, although theoretically more efficient, is bound to lead to problems in interoperability, implementation, security, and future extensions. Our choice only excludes mutable fields to allow retransmission without assigning a new IV value.

4 CCM for EAPOL messages

To be specified. 

4.1 Rationale

As CCM is perfectly suitable to use as encryption and authentication for key exchange messages it is far preferable to use CCM over some other alternative. Using CCM simplifies implementations, and reduces the number of primitives that have to be analysed.

Appendix A: list of symbols

	Name
	Description
	Size
	Comment

	a
	Additional authenticated data
	l(a) octets
	Use empty string if not desired. 

	Ai
	Counter block to generate key stream
	16 octets
	Contains block counter, nonce, and flags.

	Bi
	Input block for CBC-MAC
	16 octets
	Together encode N, L, M, m, and a uniquely.

	c
	Ciphertext 
	l(m) + M octets
	Includes the encrypted MAC

	K
	Block cipher key
	N/A.
	At least 128 bits, preferably 256 bits.

	L
	Number of octets in length field
	3 bits
	Values 1 ... 8, encoded in 3 bits as L-1. 

	m
	Message to be encrypted and sent
	l(m) octets
	Subject to 0 ( l(m) < 28L

	M
	Number of octets in authentication field
	3 bits
	Values 4, 6, 8, ..., 16. Encoded value is (M-2)/2

	N
	Nonce
	15-L octets
	Nonce should never be repeated for same key.

	Si
	Block of the encryption key stream
	16 octets
	Use S0, S1, S2, ... to encrypt m and T.

	T
	Unencrypted authentication tag
	M octets
	

	U
	Encrypted authentication tag
	M octets
	Appended to the message after encryption

	Xi
	Intermediate value of CBC-MAC
	16 octets
	


Appendix B: test vectors

The test vectors included in this appendix cover the generic CCM mode, not just the conventions recommended for 802.11i.

=============== Packet Vector #1 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.03020100

Total packet length =   31. [Input (8 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 

CBC IV in: 59 00 00 00  03 02 01 00  A0 A1 A2 A3  A4 A5 00 17  

CBC IV out:EB 9D 55 47  73 09 55 AB  23 1E 0A 2D  FE 4B 90 D6  

After xor: EB 95 55 46  71 0A 51 AE  25 19 0A 2D  FE 4B 90 D6   [hdr]

After AES: CD B6 41 1E  3C DC 9B 4F  5D 92 58 B6  9E E7 F0 91  

After xor: C5 BF 4B 15  30 D1 95 40  4D 83 4A A5  8A F2 E6 86   [msg]

After AES: 9C 38 40 5E  A0 3C 1B C9  04 B5 8B 40  C7 6C A2 EB  

After xor: 84 21 5A 45  BC 21 05 C9  04 B5 8B 40  C7 6C A2 EB   [msg]

After AES: 2D C6 97 E4  11 CA 83 A8  60 C2 C4 06  CC AA 54 2F  

MIC tag  : 2D C6 97 E4  11 CA 83 A8  

CTR Start: 01 00 00 00  03 02 01 00  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 50 85 9D 91  6D CB 6D DD  E0 77 C2 D1  D4 EC 9F 97  

CTR[0002]: 75 46 71 7A  C6 DE 9A FF  64 0C 9C 06  DE 6D 0D 8F  

CTR[MIC ]: 3A 2E 46 C8  EC 33 A5 48  

Total packet length =   39. [Encrypted]

           00 01 02 03  04 05 06 07  58 8C 97 9A  61 C6 63 D2  

           F0 66 D0 C2  C0 F9 89 80  6D 5F 6B 61  DA C3 84 17  

           E8 D1 2C FD  F9 26 E0 

=============== Packet Vector #2 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.04030201

Total packet length =   32. [Input (8 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

CBC IV in: 59 00 00 00  04 03 02 01  A0 A1 A2 A3  A4 A5 00 18  

CBC IV out:F0 C2 54 D3  CA 03 E2 39  70 BD 24 A8  4C 39 9E 77  

After xor: F0 CA 54 D2  C8 00 E6 3C  76 BA 24 A8  4C 39 9E 77   [hdr]

After AES: 48 DE 8B 86  28 EA 4A 40  00 AA 42 C2  95 BF 4A 8C  

After xor: 40 D7 81 8D  24 E7 44 4F  10 BB 50 D1  81 AA 5C 9B   [msg]

After AES: 0F 89 FF BC  A6 2B C2 4F  13 21 5F 16  87 96 AA 33  

After xor: 17 90 E5 A7  BA 36 DC 50  13 21 5F 16  87 96 AA 33   [msg]

After AES: F7 B9 05 6A  86 92 6C F3  FB 16 3D C4  99 EF AA 11  

MIC tag  : F7 B9 05 6A  86 92 6C F3  

CTR Start: 01 00 00 00  04 03 02 01  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 7A C0 10 3D  ED 38 F6 C0  39 0D BA 87  1C 49 91 F4  

CTR[0002]: D4 0C DE 22  D5 F9 24 24  F7 BE 9A 56  9D A7 9F 51  

CTR[MIC ]: 57 28 D0 04  96 D2 65 E5  

Total packet length =   40. [Encrypted]

           00 01 02 03  04 05 06 07  72 C9 1A 36  E1 35 F8 CF  

           29 1C A8 94  08 5C 87 E3  CC 15 C4 39  C9 E4 3A 3B  

           A0 91 D5 6E  10 40 09 16  

=============== Packet Vector #3 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.05040302

Total packet length =   33. [Input (8 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

           20 

CBC IV in: 59 00 00 00  05 04 03 02  A0 A1 A2 A3  A4 A5 00 19  

CBC IV out:6F 8A 12 F7  BF 8D 4D C5  A1 19 6E 95  DF F0 B4 27  

After xor: 6F 82 12 F6  BD 8E 49 C0  A7 1E 6E 95  DF F0 B4 27   [hdr]

After AES: 37 E9 B7 8C  C2 20 17 E7  33 80 43 0C  BE F4 28 24  

After xor: 3F E0 BD 87  CE 2D 19 E8  23 91 51 1F  AA E1 3E 33   [msg]

After AES: 90 CA 05 13  9F 4D 4E CF  22 6F E9 81  C5 9E 2D 40  

After xor: 88 D3 1F 08  83 50 50 D0  02 6F E9 81  C5 9E 2D 40   [msg]

After AES: 73 B4 67 75  C0 26 DE AA  41 03 97 D6  70 FE 5F B0  

MIC tag  : 73 B4 67 75  C0 26 DE AA  

CTR Start: 01 00 00 00  05 04 03 02  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 59 B8 EF FF  46 14 73 12  B4 7A 1D 9D  39 3D 3C FF  

CTR[0002]: 69 F1 22 A0  78 C7 9B 89  77 89 4C 99  97 5C 23 78  

CTR[MIC ]: 39 6E C0 1A  7D B9 6E 6F  

Total packet length =   41. [Encrypted]

           00 01 02 03  04 05 06 07  51 B1 E5 F4  4A 19 7D 1D  

           A4 6B 0F 8E  2D 28 2A E8  71 E8 38 BB  64 DA 85 96  

           57 4A DA A7  6F BD 9F B0  C5 

=============== Packet Vector #4 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.06050403

Total packet length =   31. [Input (12 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 

CBC IV in: 59 00 00 00  06 05 04 03  A0 A1 A2 A3  A4 A5 00 13  

CBC IV out:06 65 2C 60  0E F5 89 63  CA C3 25 A9  CD 3E 2B E1  

After xor: 06 69 2C 61  0C F6 8D 66  CC C4 2D A0  C7 35 2B E1   [hdr]

After AES: A0 75 09 AC  15 C2 58 86  04 2F 80 60  54 FE A6 86  

After xor: AC 78 07 A3  05 D3 4A 95  10 3A 96 77  4C E7 BC 9D   [msg]

After AES: 64 4C 09 90  D9 1B 83 E9  AB 4B 8E ED  06 6F F5 BF  

After xor: 78 51 17 90  D9 1B 83 E9  AB 4B 8E ED  06 6F F5 BF   [msg]

After AES: 4B 4F 4B 39  B5 93 E6 BF  B0 B2 C2 B7  0F 29 CD 7A  

MIC tag  : 4B 4F 4B 39  B5 93 E6 BF  

CTR Start: 01 00 00 00  06 05 04 03  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: AE 81 66 6A  83 8B 88 6A  EE BF 4A 5B  32 84 50 8A  

CTR[0002]: D1 B1 92 06  AC 93 9E 2F  B6 DD CE 10  A7 74 FD 8D  

CTR[MIC ]: DD 87 2A 80  7C 75 F8 4E  

Total packet length =   39. [Encrypted]

           00 01 02 03  04 05 06 07  08 09 0A 0B  A2 8C 68 65  

           93 9A 9A 79  FA AA 5C 4C  2A 9D 4A 91  CD AC 8C 96  

           C8 61 B9 C9  E6 1E F1 

=============== Packet Vector #5 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.07060504

Total packet length =   32. [Input (12 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

CBC IV in: 59 00 00 00  07 06 05 04  A0 A1 A2 A3  A4 A5 00 14  

CBC IV out:00 4C 50 95  45 80 3C 48  51 CD E1 3B  56 C8 9A 85  

After xor: 00 40 50 94  47 83 38 4D  57 CA E9 32  5C C3 9A 85   [hdr]

After AES: E2 B8 F7 CE  49 B2 21 72  84 A8 EA 84  FA AD 67 5C  

After xor: EE B5 F9 C1  59 A3 33 61  90 BD FC 93  E2 B4 7D 47   [msg]

After AES: 3E FB 36 72  25 DB 11 01  D3 C2 2F 0E  CA FF 44 F3  

After xor: 22 E6 28 6D  25 DB 11 01  D3 C2 2F 0E  CA FF 44 F3   [msg]

After AES: 48 B9 E8 82  55 05 4A B5  49 0A 95 F9  34 9B 4B 5E  

MIC tag  : 48 B9 E8 82  55 05 4A B5  

CTR Start: 01 00 00 00  07 06 05 04  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: D0 FC F5 74  4D 8F 31 E8  89 5B 05 05  4B 7C 90 C3  

CTR[0002]: 72 A0 D4 21  9F 0D E1 D4  04 83 BC 2D  3D 0C FC 2A  

CTR[MIC ]: 19 51 D7 85  28 99 67 26  

Total packet length =   40. [Encrypted]

           00 01 02 03  04 05 06 07  08 09 0A 0B  DC F1 FB 7B  

           5D 9E 23 FB  9D 4E 13 12  53 65 8A D8  6E BD CA 3E  

           51 E8 3F 07  7D 9C 2D 93  

=============== Packet Vector #6 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.08070605

Total packet length =   33. [Input (12 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

           20 

CBC IV in: 59 00 00 00  08 07 06 05  A0 A1 A2 A3  A4 A5 00 15  

CBC IV out:04 72 DA 4C  6F F6 0A 63  06 52 1A 06  04 80 CD E5  

After xor: 04 7E DA 4D  6D F5 0E 66  00 55 12 0F  0E 8B CD E5   [hdr]

After AES: 64 4C 36 A5  A2 27 37 62  0B 89 F1 D7  BF F2 73 D4  

After xor: 68 41 38 AA  B2 36 25 71  1F 9C E7 C0  A7 EB 69 CF   [msg]

After AES: 41 E1 19 CD  19 24 CE 77  F1 2F A6 60  C1 6E BB 4E  

After xor: 5D FC 07 D2  39 24 CE 77  F1 2F A6 60  C1 6E BB 4E   [msg]

After AES: A5 27 D8 15  6A C3 59 BF  1C B8 86 E6  2F 29 91 29  

MIC tag  : A5 27 D8 15  6A C3 59 BF  

CTR Start: 01 00 00 00  08 07 06 05  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 63 CC BE 1E  E0 17 44 98  45 64 B2 3A  8D 24 5C 80  

CTR[0002]: 39 6D BA A2  A7 D2 CB D4  B5 E1 7C 10  79 45 BB C0  

CTR[MIC ]: E5 7D DC 56  C6 52 92 2B  

Total packet length =   41. [Encrypted]

           00 01 02 03  04 05 06 07  08 09 0A 0B  6F C1 B0 11  

           F0 06 56 8B  51 71 A4 2D  95 3D 46 9B  25 70 A4 BD  

           87 40 5A 04  43 AC 91 CB  94 

=============== Packet Vector #7 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.09080706

Total packet length =   31. [Input (8 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 

CBC IV in: 61 00 00 00  09 08 07 06  A0 A1 A2 A3  A4 A5 00 17  

CBC IV out:60 06 C5 72  DA 23 9C BF  A0 5B 0A DE  D2 CD A8 1E  

After xor: 60 0E C5 73  D8 20 98 BA  A6 5C 0A DE  D2 CD A8 1E   [hdr]

After AES: 41 7D E2 AE  94 E2 EA D9  00 FC 44 FC  D0 69 52 27  

After xor: 49 74 E8 A5  98 EF E4 D6  10 ED 56 EF  C4 7C 44 30   [msg]

After AES: 2A 6C 42 CA  49 D7 C7 01  C5 7D 59 FF  87 16 49 0E  

After xor: 32 75 58 D1  55 CA D9 01  C5 7D 59 FF  87 16 49 0E   [msg]

After AES: 89 8B D6 45  4E 27 20 BB  D2 7E F3 15  7A 7C 90 B2  

MIC tag  : 89 8B D6 45  4E 27 20 BB  D2 7E 

CTR Start: 01 00 00 00  09 08 07 06  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 09 3C DB B9  C5 52 4F DA  C1 C5 EC D2  91 C4 70 AF  

CTR[0002]: 11 57 83 86  E2 C4 72 B4  8E CC 8A AD  AB 77 6F CB  

CTR[MIC ]: 8D 07 80 25  62 B0 8C 00  A6 EE 

Total packet length =   41. [Encrypted]

           00 01 02 03  04 05 06 07  01 35 D1 B2  C9 5F 41 D5  

           D1 D4 FE C1  85 D1 66 B8  09 4E 99 9D  FE D9 6C 04  

           8C 56 60 2C  97 AC BB 74  90 

=============== Packet Vector #8 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.0A090807

Total packet length =   32. [Input (8 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

CBC IV in: 61 00 00 00  0A 09 08 07  A0 A1 A2 A3  A4 A5 00 18  

CBC IV out:63 A3 FA E4  6C 79 F3 FA  78 38 B8 A2  80 36 B6 0B  

After xor: 63 AB FA E5  6E 7A F7 FF  7E 3F B8 A2  80 36 B6 0B   [hdr]

After AES: 1C 99 1A 3D  B7 60 79 27  34 40 79 1F  AD 8B 5B 02  

After xor: 14 90 10 36  BB 6D 77 28  24 51 6B 0C  B9 9E 4D 15   [msg]

After AES: 14 19 E8 E8  CB BE 75 58  E1 E3 BE 4B  6C 9F 82 E3  

After xor: 0C 00 F2 F3  D7 A3 6B 47  E1 E3 BE 4B  6C 9F 82 E3   [msg]

After AES: E0 16 E8 1C  7F 7B 8A 38  A5 38 F2 CB  5B B6 C1 F2  

MIC tag  : E0 16 E8 1C  7F 7B 8A 38  A5 38 

CTR Start: 01 00 00 00  0A 09 08 07  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 73 7C 33 91  CC 8E 13 DD  E0 AA C5 4B  6D B7 EB 98  

CTR[0002]: 74 B7 71 77  C5 AA C5 3B  04 A4 F8 70  8E 92 EB 2B  

CTR[MIC ]: 21 6D AC 2F  8B 4F 1C 07  91 8C 

Total packet length =   42. [Encrypted]

           00 01 02 03  04 05 06 07  7B 75 39 9A  C0 83 1D D2  

           F0 BB D7 58  79 A2 FD 8F  6C AE 6B 6C  D9 B7 DB 24  

           C1 7B 44 33  F4 34 96 3F  34 B4 

=============== Packet Vector #9 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.0B0A0908

Total packet length =   33. [Input (8 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

           20 

CBC IV in: 61 00 00 00  0B 0A 09 08  A0 A1 A2 A3  A4 A5 00 19  

CBC IV out:4F 2C 86 11  1E 08 2A DD  6B 44 21 3A  B5 13 13 16  

After xor: 4F 24 86 10  1C 0B 2E D8  6D 43 21 3A  B5 13 13 16   [hdr]

After AES: F6 EC 56 87  3C 57 12 DC  9C C5 3C A8  D4 D1 ED 0A  

After xor: FE E5 5C 8C  30 5A 1C D3  8C D4 2E BB  C0 C4 FB 1D   [msg]

After AES: 17 C1 80 A5  31 53 D4 C3  03 85 0C 95  65 80 34 52  

After xor: 0F D8 9A BE  2D 4E CA DC  23 85 0C 95  65 80 34 52   [msg]

After AES: 46 A1 F6 E2  B1 6E 75 F8  1C F5 6B 1A  80 04 44 1B  

MIC tag  : 46 A1 F6 E2  B1 6E 75 F8  1C F5 

CTR Start: 01 00 00 00  0B 0A 09 08  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 8A 5A 10 6B  C0 29 9A 55  5B 93 6B 0B  0E A0 DE 5A  

CTR[0002]: EA 05 FD E2  AB 22 5C FE  B7 73 12 CB  88 D9 A5 4A  

CTR[MIC ]: AC 3D F1 07  DA 30 C4 86  43 BB 

Total packet length =   43. [Encrypted]

           00 01 02 03  04 05 06 07  82 53 1A 60  CC 24 94 5A  

           4B 82 79 18  1A B5 C8 4D  F2 1C E7 F9  B7 3F 42 E1  

           97 EA 9C 07  E5 6B 5E B1  7E 5F 4E 

=============== Packet Vector #10 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.0C0B0A09

Total packet length =   31. [Input (12 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 

CBC IV in: 61 00 00 00  0C 0B 0A 09  A0 A1 A2 A3  A4 A5 00 13  

CBC IV out:7F B8 0A 32  E9 80 57 46  EC 31 6C 3A  B2 A2 EB 5D  

After xor: 7F B4 0A 33  EB 83 53 43  EA 36 64 33  B8 A9 EB 5D   [hdr]

After AES: 7E 96 96 BF  F1 56 D6 A8  6E AC F5 7B  7F 23 47 5A  

After xor: 72 9B 98 B0  E1 47 C4 BB  7A B9 E3 6C  67 3A 5D 41   [msg]

After AES: 8B 4A EE 42  04 24 8A 59  FA CC 88 66  57 66 DD 72  

After xor: 97 57 F0 42  04 24 8A 59  FA CC 88 66  57 66 DD 72   [msg]

After AES: 41 63 89 36  62 ED D7 EB  CD 6E 15 C1  89 48 62 05  

MIC tag  : 41 63 89 36  62 ED D7 EB  CD 6E 

CTR Start: 01 00 00 00  0C 0B 0A 09  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 0B 39 2B 9B  05 66 97 06  3F 12 56 8F  2B 13 A1 0F  

CTR[0002]: 07 89 65 25  23 40 94 3B  9E 69 B2 56  CC 5E F7 31  

CTR[MIC ]: 17 09 20 76  09 A0 4E 72  45 B3 

Total packet length =   41. [Encrypted]

           00 01 02 03  04 05 06 07  08 09 0A 0B  07 34 25 94  

           15 77 85 15  2B 07 40 98  33 0A BB 14  1B 94 7B 56  

           6A A9 40 6B  4D 99 99 88  DD 

=============== Packet Vector #11 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.0D0C0B0A

Total packet length =   32. [Input (12 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

CBC IV in: 61 00 00 00  0D 0C 0B 0A  A0 A1 A2 A3  A4 A5 00 14  

CBC IV out:B0 84 85 79  51 D2 FA 42  76 EF 3A D7  14 B9 62 87  

After xor: B0 88 85 78  53 D1 FE 47  70 E8 32 DE  1E B2 62 87   [hdr]

After AES: C9 B3 64 7E  D8 79 2A 5C  65 B7 CE CC  19 0A 97 0A  

After xor: C5 BE 6A 71  C8 68 38 4F  71 A2 D8 DB  01 13 8D 11   [msg]

After AES: 34 0F 69 17  FA B9 19 D6  1D AC D0 35  36 D6 55 8B  

After xor: 28 12 77 08  FA B9 19 D6  1D AC D0 35  36 D6 55 8B   [msg]

After AES: 6B 5E 24 34  12 CC C2 AD  6F 1B 11 C3  A1 A9 D8 BC  

MIC tag  : 6B 5E 24 34  12 CC C2 AD  6F 1B 

CTR Start: 01 00 00 00  0D 0C 0B 0A  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: 6B 66 BC 0C  90 A1 F1 12  FC BE 6F 4E  12 20 77 BC  

CTR[0002]: 97 9E 57 2B  BE 65 8A E5  CC 20 11 83  2A 9A 9B 5B  

CTR[MIC ]: 9E 64 86 DD  02 B6 49 C1  6D 37 

Total packet length =   42. [Encrypted]

           00 01 02 03  04 05 06 07  08 09 0A 0B  67 6B B2 03  

           80 B0 E3 01  E8 AB 79 59  0A 39 6D A7  8B 83 49 34  

           F5 3A A2 E9  10 7A 8B 6C  02 2C 

=============== Packet Vector #12 ==================

AES Key:   C0 C1 C2 C3  C4 C5 C6 C7  C8 C9 CA CB  CC CD CE CF  

      TA = A0 A1 A2 A3  A4 A5   48-bit pktNum = 0000.0E0D0C0B

Total packet length =   33. [Input (12 cleartext header octets)]

           00 01 02 03  04 05 06 07  08 09 0A 0B  0C 0D 0E 0F  

           10 11 12 13  14 15 16 17  18 19 1A 1B  1C 1D 1E 1F  

           20 

CBC IV in: 61 00 00 00  0E 0D 0C 0B  A0 A1 A2 A3  A4 A5 00 15  

CBC IV out:5F 8E 8D 02  AD 95 7C 5A  36 14 CF 63  40 16 97 4F  

After xor: 5F 82 8D 03  AF 96 78 5F  30 13 C7 6A  4A 1D 97 4F   [hdr]

After AES: 63 FA BD 69  B9 55 65 FF  54 AA F4 60  88 7D EC 9F  

After xor: 6F F7 B3 66  A9 44 77 EC  40 BF E2 77  90 64 F6 84   [msg]

After AES: 5A 76 5F 0B  93 CE 4F 6A  B4 1D 91 30  18 57 6A D7  

After xor: 46 6B 41 14  B3 CE 4F 6A  B4 1D 91 30  18 57 6A D7   [msg]

After AES: 9D 66 92 41  01 08 D5 B6  A1 45 85 AC  AF 86 32 E8  

MIC tag  : 9D 66 92 41  01 08 D5 B6  A1 45 

CTR Start: 01 00 00 00  0E 0D 0C 0B  A0 A1 A2 A3  A4 A5 00 01  

CTR[0001]: CC F2 AE D9  E0 4A C9 74  E6 58 55 B3  2B 94 30 BF  

CTR[0002]: A2 CA AC 11  63 F4 07 E5  E5 F6 E3 B3  79 0F 79 F8  

CTR[MIC ]: 50 7C 31 57  63 EF 78 D3  77 9E 

Total packet length =   43. [Encrypted]

           00 01 02 03  04 05 06 07  08 09 0A 0B  C0 FF A0 D6  

           F0 5B DB 67  F2 4D 43 A4  33 8D 2A A4  BE D7 B2 0E  

           43 CD 1A A3  16 62 E7 AD  65 D6 DB 

=============== Packet Vector #13 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = 2D38.1C9A0292

Total packet length =   31. [Input (8 cleartext header octets)]

           94 51 99 9F  03 E1 E7 2B  5F AE 94 A9  38 35 1C E8  

           DF 8B E9 F5  D9 46 54 26  5A 67 74 8E  E6 31 F6 

CBC IV in: 59 00 2D 38  1C 9A 02 92  42 EC 39 C1  86 99 00 17  

CBC IV out:B0 E6 25 C9  37 B1 66 C5  70 79 3B 99  7D F0 C8 EC  

After xor: B0 EE B1 98  AE 2E 65 24  97 52 3B 99  7D F0 C8 EC   [hdr]

After AES: 98 60 CE 17  C0 FE C7 9E  9B 00 8B 8A  99 BC 4C B2  

After xor: C7 CE 5A BE  F8 CB DB 76  44 8B 62 7F  40 FA 18 94   [msg]

After AES: 42 5F 75 68  6D 69 31 EE  F6 B3 F4 3D  10 77 6F F4  

After xor: 18 38 01 E6  8B 58 C7 EE  F6 B3 F4 3D  10 77 6F F4   [msg]

After AES: EF 93 3F 7F  9F B5 7D 54  BF 29 32 5A  3F 69 9C 5D  

MIC tag  : EF 93 3F 7F  9F B5 7D 54  

CTR Start: 01 00 2D 38  1C 9A 02 92  42 EC 39 C1  86 99 00 01  

CTR[0001]: 9B 63 18 4C  23 A5 B1 18  49 71 1A 49  5C 40 DD DB  

CTR[0002]: 2E F5 4D 53  86 73 A0 6E  A5 AD EB 84  D6 A9 37 02  

CTR[MIC ]: 2F 45 06 56  3D 33 82 3B  

Total packet length =   39. [Encrypted]

           94 51 99 9F  03 E1 E7 2B  C4 CD 8C E5  1B 90 AD F0  

           96 FA F3 BC  85 06 89 FD  74 92 39 DD  60 42 56 C0  

           D6 39 29 A2  86 FF 6F 

=============== Packet Vector #14 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = 4DB9.0282DD86

Total packet length =   32. [Input (8 cleartext header octets)]

           50 D2 5E F4  B3 92 86 5A  06 F1 6B 83  83 88 72 91  

           16 B6 F7 B8  4D 5D 44 1F  70 D6 8F 6B  A0 96 06 C3  

CBC IV in: 59 00 4D B9  02 82 DD 86  42 EC 39 C1  86 99 00 18  

CBC IV out:92 27 D3 5E  DD 64 94 B2  C9 6A 6F 0F  6F 3E AF DA  

After xor: 92 2F 83 8C  83 90 27 20  4F 30 6F 0F  6F 3E AF DA   [hdr]

After AES: 9D 59 21 A7  EE 66 16 56  A6 4F D9 BA  5D 63 81 7A  

After xor: 9B A8 4A 24  6D EE 64 C7  B0 F9 2E 02  10 3E C5 65   [msg]

After AES: 52 98 87 DB  DD 37 86 00  CE F4 83 C1  D1 8E 35 56  

After xor: 22 4E 08 B0  7D A1 80 C3  CE F4 83 C1  D1 8E 35 56   [msg]

After AES: 46 AC 99 A0  50 35 91 70  1A A2 9E E0  B3 5F 72 9D  

MIC tag  : 46 AC 99 A0  50 35 91 70  

CTR Start: 01 00 4D B9  02 82 DD 86  42 EC 39 C1  86 99 00 01  

CTR[0001]: 72 D0 3E 15  C3 F1 D5 65  66 32 A8 F2  CF A7 D1 9F  

CTR[0002]: 52 69 9E 35  C9 C5 EE 07  70 80 67 C0  2B 38 41 20  

CTR[MIC ]: E7 B7 A3 E1  84 B8 9C 6F  

Total packet length =   40. [Encrypted]

           50 D2 5E F4  B3 92 86 5A  74 21 55 96  40 79 A7 F4  

           70 84 5F 4A  82 FA 95 80  22 BF 11 5E  69 53 E8 C4  

           A1 1B 3A 41  D4 8D 0D 1F  

=============== Packet Vector #15 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = B5D4.B99983BA

Total packet length =   33. [Input (8 cleartext header octets)]

           6D 83 00 ED  50 09 A4 B2  6D E8 57 B7  58 49 19 CA  

           EE 43 9C E4  8E BE 0C AC  00 F2 F9 32  50 0A 1C DD  

           AC 

CBC IV in: 59 00 B5 D4  B9 99 83 BA  42 EC 39 C1  86 99 00 19  

CBC IV out:04 16 DE 1D  F7 77 E0 89  6E 07 B5 71  E9 1B 42 B2  

After xor: 04 1E B3 9E  F7 9A B0 80  CA B5 B5 71  E9 1B 42 B2   [hdr]

After AES: 52 14 26 1E  6A 9D 50 38  D3 35 D5 76  0E ED E8 2E  

After xor: 3F FC 71 A9  32 D4 49 F2  3D 76 49 92  80 53 E4 82   [msg]

After AES: 32 F2 0F FA  32 81 03 14  F9 CA FD C1  5E 37 27 0E  

After xor: 32 00 F6 C8  62 8B 1F C9  55 CA FD C1  5E 37 27 0E   [msg]

After AES: 39 F5 F2 1E  2E 57 D7 14  96 46 57 CA  3B 70 A8 4C  

MIC tag  : 39 F5 F2 1E  2E 57 D7 14  

CTR Start: 01 00 B5 D4  B9 99 83 BA  42 EC 39 C1  86 99 00 01  

CTR[0001]: 19 22 A3 83  B9 00 F2 DB  76 F3 84 65  D5 01 B4 C4  

CTR[0002]: 50 6C 24 D4  0F 88 DB B0  68 98 12 E5  6E 64 A0 3B  

CTR[MIC ]: 5B D9 B1 BB  D3 93 45 CA  

Total packet length =   41. [Encrypted]

           6D 83 00 ED  50 09 A4 B2  74 CA F4 34  E1 49 EB 11  

           98 B0 18 81  5B BF B8 68  50 9E DD E6  5F 82 C7 6D  

           C4 62 2C 43  A5 FD C4 92  DE 

=============== Packet Vector #16 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = AA65.BACC0941

Total packet length =   31. [Input (12 cleartext header octets)]

           EF 8F 46 B4  C9 77 98 32  BB F1 0A F1  C0 63 E7 C3  

           DD 47 94 DF  53 A7 CD 68  CD 91 BF 29  04 4A 0B 

CBC IV in: 59 00 AA 65  BA CC 09 41  42 EC 39 C1  86 99 00 13  

CBC IV out:C5 95 2A 10  39 2B 60 9B  2C D5 30 83  CD 1D C8 FE  

After xor: C5 99 C5 9F  7F 9F A9 EC  B4 E7 8B 72  C7 EC C8 FE   [hdr]

After AES: 41 D0 4D 56  FF DD D7 3D  AC CD AC 7D  63 64 3E 31  

After xor: 81 B3 AA 95  22 9A 43 E2  FF 6A 61 15  AE F5 81 18   [msg]

After AES: 9C 86 E1 EE  BE 2B F0 BD  6D 11 20 3D  24 B1 B0 96  

After xor: 98 CC EA EE  BE 2B F0 BD  6D 11 20 3D  24 B1 B0 96   [msg]

After AES: 3F 3A ED 74  AB C6 52 6A  DA C8 8D 14  0A 9F 84 23  

MIC tag  : 3F 3A ED 74  AB C6 52 6A  

CTR Start: 01 00 AA 65  BA CC 09 41  42 EC 39 C1  86 99 00 01  

CTR[0001]: BD EF 70 9B  3C 70 A7 98  0F 36 C4 6E  7C D1 73 8D  

CTR[0002]: 23 CC E5 E9  54 AD A2 09  21 17 FC 75  10 09 B3 E3  

CTR[MIC ]: 38 17 B3 02  58 0A BA 84  

Total packet length =   39. [Encrypted]

           EF 8F 46 B4  C9 77 98 32  BB F1 0A F1  7D 8C 97 58  

           E1 37 33 47  5C 91 09 06  B1 40 CC A4  27 86 EE 07  

           2D 5E 76 F3  CC E8 EE 

=============== Packet Vector #17 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = F01B.307ADDDB

Total packet length =   32. [Input (12 cleartext header octets)]

           33 DF F8 40  E0 8C 16 9F  CB 1F F5 9F  B0 54 99 DD  

           DD 6B EC 1E  13 2B 57 CB  0F DD 93 CD  E0 89 43 87  

CBC IV in: 59 00 F0 1B  30 7A DD DB  42 EC 39 C1  86 99 00 14  

CBC IV out:5C 16 AC 74  00 F3 24 1D  0F F1 5D 17  D2 CE 67 0E  

After xor: 5C 1A 9F AB  F8 B3 C4 91  19 6E 96 08  27 51 67 0E   [hdr]

After AES: 8C 93 BC 6C  CA 8C 40 BB  03 FA 7C 0C  4F A0 10 42  

After xor: 3C C7 25 B1  17 E7 AC A5  10 D1 2B C7  40 7D 83 8F   [msg]

After AES: 0C 03 5F 87  D7 DA 97 E5  77 7D D6 9C  EB 8C 84 86  

After xor: EC 8A 1C 00  D7 DA 97 E5  77 7D D6 9C  EB 8C 84 86   [msg]

After AES: D0 8E 6D AC  0C 55 2B 34  F8 D3 05 82  B7 28 E5 C4  

MIC tag  : D0 8E 6D AC  0C 55 2B 34  

CTR Start: 01 00 F0 1B  30 7A DD DB  42 EC 39 C1  86 99 00 01  

CTR[0001]: 3F 92 05 5E  E5 B1 2E F0  AF 6D C0 47  E8 FB 18 9E  

CTR[0002]: C6 FD 0C C5  9F 93 37 F8  37 29 6A A6  E5 B7 00 F4  

CTR[MIC ]: FD F5 FD 7C  00 82 8F 95  

Total packet length =   40. [Encrypted]

           33 DF F8 40  E0 8C 16 9F  CB 1F F5 9F  8F C6 9C 83  

           38 DA C2 EE  BC 46 97 8C  E7 26 8B 53  26 74 4F 42  

           2D 7B 90 D0  0C D7 A4 A1  

=============== Packet Vector #18 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = CE82.0B57FD4C

Total packet length =   33. [Input (12 cleartext header octets)]

           55 68 62 0F  19 A9 5D CB  98 4B C7 18  27 BF 59 E8  

           8B FD 03 97  17 9F 7A CA  E6 B6 16 97  26 7A C0 5F  

           24 

CBC IV in: 59 00 CE 82  0B 57 FD 4C  42 EC 39 C1  86 99 00 15  

CBC IV out:99 2D DF 68  2D 48 EF 2A  14 F0 16 6E  E4 14 9B 54  

After xor: 99 21 8A 00  4F 47 F6 83  49 3B 8E 25  23 0C 9B 54   [hdr]

After AES: B7 97 9F B4  98 BC 07 E8  D2 60 92 00  1B 26 55 52  

After xor: 90 28 C6 5C  13 41 04 7F  C5 FF E8 CA  FD 90 43 C5   [msg]

After AES: 2E 3E 5C 36  EA 3B B1 BA  0D 4F D0 EE  48 E7 38 DD  

After xor: 08 44 9C 69  CE 3B B1 BA  0D 4F D0 EE  48 E7 38 DD   [msg]

After AES: 48 82 DE 1F  F0 3F 78 29  77 7C 01 A0  80 45 D1 D7  

MIC tag  : 48 82 DE 1F  F0 3F 78 29  

CTR Start: 01 00 CE 82  0B 57 FD 4C  42 EC 39 C1  86 99 00 01  

CTR[0001]: 34 18 98 69  BD 1B AF 27  05 F2 7A C7  BF 2E F7 8A  

CTR[0002]: 1E C6 81 EE  BC EE AF 2C  83 A1 37 C8  29 9B B1 DF  

CTR[MIC ]: 62 C0 72 9E  52 D2 30 F3  

Total packet length =   41. [Encrypted]

           55 68 62 0F  19 A9 5D CB  98 4B C7 18  13 A7 C1 81  

           36 E6 AC B0  12 6D 00 0D  59 98 E1 1D  38 BC 41 B1  

           98 2A 42 AC  81 A2 ED 48  DA 

=============== Packet Vector #19 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = 34B5.2F55F836

Total packet length =   31. [Input (8 cleartext header octets)]

           30 27 70 18  36 DC FE E3  01 DE B7 F9  4D 49 E3 20  

           BF AA C3 99  25 89 A5 6A  72 85 AE 03  CA 56 5D 

CBC IV in: 61 00 34 B5  2F 55 F8 36  42 EC 39 C1  86 99 00 17  

CBC IV out:07 03 FA 5A  50 F2 3C 36  E0 29 79 21  F4 B9 75 1B  

After xor: 07 0B CA 7D  20 EA 0A EA  1E CA 79 21  F4 B9 75 1B   [hdr]

After AES: 2E 47 BB 82  95 84 25 CC  93 DD 77 9B  77 F2 D3 24  

After xor: 2F 99 0C 7B  D8 CD C6 EC  2C 77 B4 02  52 7B 76 4E   [msg]

After AES: 3C 1D D1 EB  A5 E3 CB A0  14 93 CD C7  61 FC EB 29  

After xor: 4E 98 7F E8  6F B5 96 A0  14 93 CD C7  61 FC EB 29   [msg]

After AES: F7 B0 EB A1  6C 26 4B 50  D4 DC 9F 6D  E1 B2 5B FE  

MIC tag  : F7 B0 EB A1  6C 26 4B 50  D4 DC 

CTR Start: 01 00 34 B5  2F 55 F8 36  42 EC 39 C1  86 99 00 01  

CTR[0001]: 83 5D 2C BC  1E 6D A5 E8  BC 67 D3 56  33 F0 2B D1  

CTR[0002]: E8 99 77 FC  10 10 49 92  3C FC 00 2A  85 79 A7 C0  

CTR[MIC ]: 53 DD 0A 76  3B 12 C5 33  01 98 

Total packet length =   41. [Encrypted]

           30 27 70 18  36 DC FE E3  82 83 9B 45  53 24 46 C8  

           03 CD 10 CF  16 79 8E BB  9A 1C D9 FF  DA 46 14 A4  

           6D E1 D7 57  34 8E 63 D5  44 

=============== Packet Vector #20 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = 9BB8.8848BE25

Total packet length =   32. [Input (8 cleartext header octets)]

           54 FF D9 C2  A4 AE 72 B1  C9 33 92 50  20 D3 04 61  

           5F B1 4A EF  9C 67 0E 0D  9F 8C D1 11  9D 25 69 5F  

CBC IV in: 61 00 9B B8  88 48 BE 25  42 EC 39 C1  86 99 00 18  

CBC IV out:EF 78 98 2E  7A 90 6E D4  72 A8 F4 11  8D E7 94 8A  

After xor: EF 70 CC D1  A3 52 CA 7A  00 19 F4 11  8D E7 94 8A   [hdr]

After AES: D1 61 C3 62  F8 3C 51 3D  F3 FF 7F 1A  26 D4 F6 B9  

After xor: 18 52 51 32  D8 EF 55 5C  AC 4E 35 F5  BA B3 F8 B4   [msg]

After AES: 46 CA 2F 4A  C4 99 EF C5  3B 5F FB 85  14 F7 BF 83  

After xor: D9 46 FE 5B  59 BC 86 9A  3B 5F FB 85  14 F7 BF 83   [msg]

After AES: CD 55 F0 30  92 12 AE 02  EA 25 FA 94  87 DE 36 0F  

MIC tag  : CD 55 F0 30  92 12 AE 02  EA 25 

CTR Start: 01 00 9B B8  88 48 BE 25  42 EC 39 C1  86 99 00 01  

CTR[0001]: E8 97 0A 1A  3A 73 B4 9F  89 E3 75 CB  F2 14 39 55  

CTR[0002]: E9 CE 11 29  F6 5F 32 11  CD 7A 86 34  9C 67 F1 B5  

CTR[MIC ]: 49 75 2B DA  6D 4A E9 9E  F8 4C 

Total packet length =   42. [Encrypted]

           54 FF D9 C2  A4 AE 72 B1  21 A4 98 4A  1A A0 B0 FE  

           D6 52 3F 24  6E 73 37 58  76 42 C0 38  6B 7A 5B 4E  

           84 20 DB EA  FF 58 47 9C  12 69 

=============== Packet Vector #21 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = 6E78.B6723686

Total packet length =   33. [Input (8 cleartext header octets)]

           AF BB B4 19  9C 13 D3 77  CE 25 C4 A7  B7 3B 06 1F  

           58 6E 08 93  F9 17 8D CB  11 31 B2 E6  27 86 9A 4F  

           44 

CBC IV in: 61 00 6E 78  B6 72 36 86  42 EC 39 C1  86 99 00 19  

CBC IV out:15 BF E5 B7  83 9A C6 00  B1 6F C9 F5  DA A8 3F 1C  

After xor: 15 B7 4A 0C  37 83 5A 13  62 18 C9 F5  DA A8 3F 1C   [hdr]

After AES: E4 19 EF 1E  69 A1 48 EE  16 60 84 7D  D5 C9 D1 D6  

After xor: 2A 3C 2B B9  DE 9A 4E F1  4E 0E 8C EE  2C DE 5C 1D   [msg]

After AES: 31 02 9A 8B  CA A3 07 1D  84 80 76 51  1D 9E 22 41  

After xor: 20 33 28 6D  ED 25 9D 52  C0 80 76 51  1D 9E 22 41   [msg]

After AES: 21 5E E1 31  37 17 98 A5  FD 6E BB 74  D4 8E 59 C1  

MIC tag  : 21 5E E1 31  37 17 98 A5  FD 6E 

CTR Start: 01 00 6E 78  B6 72 36 86  42 EC 39 C1  86 99 00 01  

CTR[0001]: 47 C1 8B 43  AF B6 3A C4  0A 7F CA C3  AE E4 83 0D  

CTR[0002]: D9 91 74 F0  AE 23 37 4F  54 45 80 0D  27 0D A4 49  

CTR[MIC ]: 17 E6 DC 69  6A 2E 09 B0  76 32 

Total packet length =   43. [Encrypted]

           AF BB B4 19  9C 13 D3 77  89 E4 4F E4  18 8D 3C DB  

           52 11 C2 50  57 F3 0E C6  C8 A0 C6 16  89 A5 AD 00  

           10 36 B8 3D  58 5D 39 91  15 8B 5C 

=============== Packet Vector #22 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = D079.0F8F3A99

Total packet length =   31. [Input (12 cleartext header octets)]

           5E C4 44 5A  EA D7 1B B1  DA 9E B5 10  0B 5E 8D 9F  

           4F 27 49 CE  2B FC FF 25  B7 2C 81 17  55 CB 36 

CBC IV in: 61 00 D0 79  0F 8F 3A 99  42 EC 39 C1  86 99 00 13  

CBC IV out:47 4D BA 73  6A 5C 84 22  F5 0C 8B A3  60 72 F7 24  

After xor: 47 41 E4 B7  2E 06 6E F5  EE BD 51 3D  D5 62 F7 24   [hdr]

After AES: A0 AF ED 92  55 EA 4C FC  5D 08 85 13  BE BF 07 25  

After xor: AB F1 60 0D  1A CD 05 32  76 F4 7A 36  09 93 86 32   [msg]

After AES: F4 A9 E7 1A  D7 61 45 83  A0 CC 88 FA  25 5F B7 2D  

After xor: A1 62 D1 1A  D7 61 45 83  A0 CC 88 FA  25 5F B7 2D   [msg]

After AES: 69 9C B6 66  03 78 1C 1B  92 93 86 F4  55 85 F4 6C  

MIC tag  : 69 9C B6 66  03 78 1C 1B  92 93 

CTR Start: 01 00 D0 79  0F 8F 3A 99  42 EC 39 C1  86 99 00 01  

CTR[0001]: 30 4E B1 9A  EF 85 41 18  7E A7 77 F9  8D 0F BF E5  

CTR[0002]: D1 8D 23 55  FA 2C 1C C7  F1 A5 86 A8  8E 7D 9E BF  

CTR[MIC ]: 64 C3 13 58  1E EE F5 E8  E5 F2 

Total packet length =   41. [Encrypted]

           5E C4 44 5A  EA D7 1B B1  DA 9E B5 10  3B 10 3C 05  

           A0 A2 08 D6  55 5B 88 DC  3A 23 3E F2  84 46 15 0D  

           5F A5 3E 1D  96 E9 F3 77  61 

=============== Packet Vector #23 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = A625.D6288BF2

Total packet length =   32. [Input (12 cleartext header octets)]

           04 0C CF 5E  9E D7 4C EB  29 77 88 EB  E0 D2 59 4B  

           F4 18 94 D9  BE 58 C4 EA  A3 BF 82 BF  A1 C5 3C 23  

CBC IV in: 61 00 A6 25  D6 28 8B F2  42 EC 39 C1  86 99 00 14  

CBC IV out:4F BC D9 D4  BB D2 77 FE  6B B3 CA 7A  AD 95 71 D2  

After xor: 4F B0 DD D8  74 8C E9 29  27 58 E3 0D  25 7E 71 D2   [hdr]

After AES: E0 DD 09 D3  48 43 C1 70  E2 7C FE B0  4D 87 0A 66  

After xor: 00 0F 50 98  BC 5B 55 A9  5C 24 3A 5A  EE 38 88 D9   [msg]

After AES: 4C 05 CA CC  DA 7D 5B 07  DE CA C7 14  D4 26 C5 D6  

After xor: ED C0 F6 EF  DA 7D 5B 07  DE CA C7 14  D4 26 C5 D6   [msg]

After AES: 84 C8 29 3A  41 A2 E5 8C  6E 66 B2 26  BB B4 15 0D  

MIC tag  : 84 C8 29 3A  41 A2 E5 8C  6E 66 

CTR Start: 01 00 A6 25  D6 28 8B F2  42 EC 39 C1  86 99 00 01  

CTR[0001]: 12 62 98 95  AB 26 D2 51  4C 32 59 F4  8E 21 19 4C  

CTR[0002]: 1E 70 D2 AF  FE 0A 84 D5  45 27 C4 25  75 5B 99 5D  

CTR[MIC ]: 0F EE 6A 8E  47 D2 BC 52  C9 CB 

Total packet length =   42. [Encrypted]

           04 0C CF 5E  9E D7 4C EB  29 77 88 EB  F2 B0 C1 DE  

           5F 3E 46 88  F2 6A 9D 1E  2D 9E 9B F3  BF B5 EE 8C  

           8B 26 43 B4  06 70 59 DE  A7 AD 

=============== Packet Vector #24 ==================

AES Key:   71 FB FD 78  FB E2 99 29  82 01 24 CC  71 44 75 7E  

      TA = 42 EC 39 C1  86 99   48-bit pktNum = 7CD9.622F4AED

Total packet length =   33. [Input (12 cleartext header octets)]

           AB CB 0A 7E  49 E6 F8 74  E7 1D AA 1A  CC 96 CA 13  

           39 66 05 81  59 70 D4 65  1D 28 88 00  F2 35 DA 22  

           63 

CBC IV in: 61 00 7C D9  62 2F 4A ED  42 EC 39 C1  86 99 00 15  

CBC IV out:6B 58 00 94  F8 F3 99 9C  9E 23 D0 58  57 E8 F9 58  

After xor: 6B 54 AB 5F  F2 8D D0 7A  66 57 37 45  FD F2 F9 58   [hdr]

After AES: 75 6A 35 9E  7F 06 79 D1  16 9E 8B FF  A1 4B 7C F1  

After xor: B9 FC FF 8D  46 60 7C 50  4F EE 5F 9A  BC 63 F4 F1   [msg]

After AES: 00 12 C1 1D  3B 6F D0 B5  8E 72 2F A4  DB 2A 91 29  

After xor: F2 27 1B 3F  58 6F D0 B5  8E 72 2F A4  DB 2A 91 29   [msg]

After AES: 65 71 83 09  48 3B 45 14  9C 05 90 A9  C7 96 56 E4  

MIC tag  : 65 71 83 09  48 3B 45 14  9C 05 

CTR Start: 01 00 7C D9  62 2F 4A ED  42 EC 39 C1  86 99 00 01  

CTR[0001]: A7 50 18 88  92 3F 63 B0  DA ED 59 36  2D 61 93 50  

CTR[0002]: 8C 32 57 34  AB 75 8E AB  57 A7 DB B0  F2 41 EA AD  

CTR[MIC ]: D8 39 8F F8  7A 1C 3F 34  E5 94 

Total packet length =   43. [Encrypted]

           AB CB 0A 7E  49 E6 F8 74  E7 1D AA 1A  6B C6 D2 9B  

           AB 59 66 31  83 9D 8D 53  30 49 1B 50  7E 07 8D 16  

           C8 BD 48 0C  F1 32 27 7A  20 79 91 
Appendix C: reference code

As a convienience to the reader, the reference implemntation contained in this appendix and the test vectors from the preceeding appendix can be downloaded from http://www.hifn.com/support/ccm.htm.

//

//================================================================

// Proposed AES CTR/CBC-MAC mode test vector generation

//

// 11-02-001r2-I-AES-Encryption & Authentication-Using-CTR-Mode-with-CBC-MAC

//

// Author:  Doug Whiting, Hifn  (dwhiting@hifn.com)

//

// This code is released to the public domain, on an as-is basis.

// 

//================================================================

//

#include <stdio.h>

#include <stdlib.h>

#include <string.h>

#include <time.h>

#include <assert.h>

#include "aes_defs.h"       // AES calling interface

#include "aes_vect.h"       // NIST AES test vectors

typedef int BOOL;           // boolean

enum

    {

    BLK_SIZE    =   16,     // # octets in an AES block

    MAX_PACKET  =   3*512,  // largest packet size

    N_RESERVED  =   0,      // reserved nonce octet value

    A_DATA      =   0x40,   // the Adata bit in the flags

    M_SHIFT     =   3,      // how much to shift the 3-bit M field

    L_SHIFT     =   0,      // how much to shift the 3-bit L field

    L_SIZE      =   2       // size of the l(m) length field (in octets)

    };

union block                 // AES cipher block

    {

    u32b  x[BLK_SIZE/4];    // access as 8-bit octets or 32-bit words

    u08b  b[BLK_SIZE];

    };

struct packet

    {

    BOOL    encrypted;      // TRUE if encrypted

    u08b    TA[6];          // xmit address

    int     micLength;      // # octets of MIC appended to plaintext (M)

    int     clrCount;       // # cleartext octets covered by MIC

    u32b    pktNum[2];      // unique packet sequence number (like WEP IV)

    block   key;            // the encryption key (K)

    int     length;         // # octets in data[]

    u08b    data[MAX_PACKET+2*BLK_SIZE];    // packet contents

    };

struct

    {

    int     cnt;            // how many words left in ct

    block   ptCntr;         // the counter input

    block   ct;             // the ciphertext (prng output)

    } prng;

// return the 32-bit value read to be stored as a big-endian word

u32b   BigEndian(u32b   x)

    {

    static block b={0,0,0,0};

    if (b.x[0]==0)          // first time, figure out endianness

        b.x[0]=0xFF000001;

    if (b.b[0]==0xFF)       // is this a big-endian CPU?

        return x;           // if so, just return x

    if (b.b[0]!=0x01)       // not big endian. Check that it's little-endian

        assert(0);          // if not, bomb!

    // little-endian: do the byte swapping

    return (x >> 24) + (x << 24) +

          ((x >>  8) & 0x00FF00) + ((x <<  8) & 0xFF0000);

    }

void InitRand(u32b   seed)

    {

    memset(prng.ptCntr.b,0,BLK_SIZE);

    prng.ptCntr.x[(BLK_SIZE/4)-1]=seed*17;

    prng.cnt=0;             // the pump is dry

    }

// prng: does not use C rand(), so this should be repeatable across platforms

u32b   Random32(void)

    {

    if (prng.cnt == 0)

        {   // use whatever key is currently defined

        prng.cnt=BLK_SIZE/4;

        prng.ptCntr.x[0]++;

        if (prng.ptCntr.x[0]==0)    // ripple carry?

            prng.ptCntr.x[1]++;     // (stop at 64 bits)

        AES_Encrypt(prng.ptCntr.x,prng.ct.x);

        }

    --prng.cnt;

    return BigEndian(prng.ct.x[prng.cnt]);

    }

// display a block

void ShowBlock(const block *blk,const char *prefix,const char *suffix,int a)

    {

    int i,blkSize = BLK_SIZE;

    printf(prefix,a);

    if (suffix == NULL) { suffix = "\n"; blkSize = a; }

    for (i=0;i<blkSize;i++)

        printf("%02X%s",blk->b[i],((i&3)==3)?"  ":" ");

    printf(suffix);

    }

void ShowAddr(const packet *p)

    {

    int i;

    printf("      TA = ");

    for (i=0;i<6;i++) printf("%02X%s",p->TA[i],(i==3)?"  ":" ");

    printf("  48-bit pktNum = %04X.%08X\n",p->pktNum[1],p->pktNum[0]);

    }

// display a packet

void ShowPacket(const packet *p,const char *pComment,int a)

    {

    int i;

    printf("Total packet length = %4d. ",p->length);

    printf(pComment,a);

    if (p->encrypted) printf("[Encrypted]");

    for (i=0;i<p->length;i++)

        {

        if ((i & 15) == 0) printf("\n%11s","");

        printf("%02X%s",p->data[i],((i&3)==3)?"  ":" ");

        }

    printf("\n");

    }

// make sure that encrypt/decrypt work according to NIST vectors

void Validate_NIST_AES_Vectors(int verbose)

    {

    int     i;

    block   key,pt,ct,rt;

    printf("AES KAT Vectors:\n");   // known-answer tests

    // variable text (fixed-key) tests

    memcpy(key.b,VT_key,BLK_SIZE);

    AES_SetKey(key.x,BLK_SIZE*8);

    for (i=0;i<sizeof(VT_pt_ct_pairs);i+=2*BLK_SIZE)

         {

         memcpy(pt.b,VT_pt_ct_pairs+i,BLK_SIZE);

         AES_Encrypt(pt.x,ct.x);

         if (memcmp(ct.x,VT_pt_ct_pairs+i+BLK_SIZE,BLK_SIZE))

             {

             printf("Vector miscompare at VT test #%d",i);

             exit(1);

             }

         AES_Decrypt(ct.x,rt.x);    // sanity check on decrypt

         if (memcmp(pt.b,rt.b,BLK_SIZE))

             {

             printf("Decrypt miscompare at VT test #%d",i);

             exit(1);

             }

         if (verbose)   // only do a little if we're "debugging"

             {  printf("\n");    break; }

         else if (i==0)

             {          //  display the first vector

             ShowBlock(&key,"Key:       ","\n",0);

             ShowBlock(&pt ,"PT:        ","\n",0);

             ShowBlock(&ct ,"CT:        ","\n\n",0);

             }

         }

    // variable key (fixed-text) tests

    memcpy(pt.b,VK_pt,BLK_SIZE);

    for (i=0;i<sizeof(VK_key_ct_pairs);i+=2*BLK_SIZE)

         {

         memcpy(key.b,VK_key_ct_pairs+i,BLK_SIZE);

         AES_SetKey(key.x,BLK_SIZE*8);

         AES_Encrypt(pt.x,ct.x);

         if (memcmp(ct.x,VK_key_ct_pairs+i+BLK_SIZE,BLK_SIZE))

             {

             printf("Vector miscompare at VK test #%d",i);

             exit(1);

             }

         AES_Decrypt(ct.x,rt.x);    // sanity check on decrypt

         if (memcmp(pt.b,rt.b,BLK_SIZE))

             {

             printf("Decrypt miscompare at VK test #%d",i);

             exit(1);

             }

         if (verbose)   // only do a little if we're "debugging"

             {  printf("\n");    break; }

         else if (i==0)

             {          //  display the first vector

             ShowBlock(&key,"Key:       ","\n",0);

             ShowBlock(&pt ,"PT:        ","\n",0);

             ShowBlock(&ct ,"CT:        ","\n\n",0);

             }

         }

    printf("NIST AES Vectors: OK\n");   // if we got here, it's all cool

    }

// assumes AES_SetKey is called elsewhere

void Generate_CTR_CBC_Vector(packet *p,int verbose)

    {

    int     i,j,len,needPad,blkNum;

    block   m,x,T;

    assert(p->length    >= p->clrCount && p->length    <= MAX_PACKET);

    assert(p->micLength >  0           && p->micLength <= BLK_SIZE);

    len = p->length - p->clrCount;      // l(m)

    ShowPacket(p,"[Input (%d cleartext header octets)]",p->clrCount);

    //---- generate the first AES block for CBC-MAC

    m.b[ 0] = (u08b) (((p->clrCount)?A_DATA:0) + 



              (((p->micLength-2)/2 << M_SHIFT)) +

                      ((L_SIZE-1) << L_SHIFT));  // flags octet

    m.b[ 1] = N_RESERVED;                        // reserved nonce octet 

    m.b[ 2] = (u08b) (p->pktNum[1] >> 8) & 0xFF; // 48 bits of pkt num ("IV")

    m.b[ 3] = (u08b)  p->pktNum[1]       & 0xFF;

    m.b[ 4] = (u08b) (p->pktNum[0] >>24) & 0xFF;

    m.b[ 5] = (u08b) (p->pktNum[0] >>16) & 0xFF;

    m.b[ 6] = (u08b) (p->pktNum[0] >> 8) & 0xFF;

    m.b[ 7] = (u08b)  p->pktNum[0]       & 0xFF;

    m.b[ 8] = p->TA[0];                          // 48 bits of Transmit Addr

    m.b[ 9] = p->TA[1];

    m.b[10] = p->TA[2];

    m.b[11] = p->TA[3];

    m.b[12] = p->TA[4];

    m.b[13] = p->TA[5];

    m.b[14] = (len >> 8) & 0xFF;                 // l(m) field

    m.b[15] = len        & 0xFF;

    //---- compute the CBC-MAC tag (MIC)

    AES_Encrypt(m.x,x.x);               // produce the CBC IV

    ShowBlock(&m,"CBC IV in: ","\n",0);

    if (verbose) ShowBlock(&x,"CBC IV out:","\n",0);

    j=0;                                // j = octet counter inside the block

    if (p->clrCount)                    // is there a header?

        {                               // if so, "insert" length field: l(a)

        assert(p->clrCount < 0xFFF0);   // [don't handle larger cases (yet)]

        x.b[j++]^=(p->clrCount >> 8) & 0xFF;

        x.b[j++]^= p->clrCount       & 0xFF;

        }

    for (i=blkNum=0;i<p->length;i++)    // do the CBC-MAC processing

        {

        x.b[j++] ^= p->data[i];         // perform the CBC xor

        needPad = (i == p->clrCount-1) || (i == p->length-1);

        if ((j == BLK_SIZE) || needPad) // full block, or hit pad boundary

            {

            if (verbose) ShowBlock(&x,"After xor: ",

                        (i >= p->clrCount) ? " [msg]\n" : " [hdr]\n",blkNum);

            AES_Encrypt(x.x,x.x);      // encrypt the CBC-MAC block, in place

            if (verbose) ShowBlock(&x,"After AES: ","\n",blkNum);

            blkNum++;                  // count the blocks

            j = 0;                     // the block is now empty

            }

        }

    memcpy(T.b,x.b,p->micLength);       // save the MIC tag 

    ShowBlock(&T,"MIC tag  : ",NULL,p->micLength);

    //---- encrypt the data packet using CTR mode

    m.b[0] &= ~ (A_DATA | (7<<M_SHIFT));// clear flag fields for counter mode

    for (i=blkNum=0;i+p->clrCount < p->length;i++)

        {

        if ((i % BLK_SIZE) == 0)

            {                           // generate new keystream block

            blkNum++;                   // start data with block #1

            m.b[14] = blkNum/256;

            m.b[15] = blkNum%256;

            AES_Encrypt(m.x,x.x);       // then encrypt the counter

            if (verbose && i==0) ShowBlock(&m,"CTR Start: ","\n",0);

            if (verbose) ShowBlock(&x,"CTR[%04X]: " ,"\n",blkNum);

            }

                                        // merge in the keystream

        p->data[i+p->clrCount] ^= x.b[i % BLK_SIZE];

        }

    //---- truncate, encrypt, and append MIC to packet

    m.b[14] = m.b[15] = 0;           // use block counter value zero for tag

    AES_Encrypt(m.x,x.x);            // encrypt the counter

    if (verbose) ShowBlock(&x,"CTR[MIC ]: " ,NULL,p->micLength);

    for (i=0;i<p->micLength;i++)  

        p->data[p->length+i]=T.b[i] ^ x.b[i];

    p->length+=p->micLength;         // adjust packet length accordingly

    p->encrypted = 1;

    ShowPacket(p,"",0);              // show the final encrypted packet

    }

int main(int argc,char *argv[])

    {

    int     i,j,k,len,pktNum,seed;

    packet  p;

    seed = (argc > 1) ? atoi(argv[1]) : (int) time(NULL);

    InitRand(seed);

    printf("%s C compiler [%s %s].\nRandom seed = %d\n",

           COMPILER_ID,__DATE__,__TIME__,seed);

    // first, make sure that our AES code matches NIST KAT vectors

    Validate_NIST_AES_Vectors(_VERBOSE_);

    // generate CTR-CBC vectors for various parameter settings

    for (k=pktNum=0;k<2;k++)

        {   // k==1 --> random vectors. k==0 --> "visually simple" vectors

        for (i=0;i<BLK_SIZE  ;i++)          

            p.key.b[i] = (k) ? (u08b) Random32() & 0xFF : i + 0xC0;

        for (i=0;i<6;i++)          

            p.TA[i]    = (k) ? (u08b) Random32() & 0xFF : i + 0xA0;

        AES_SetKey(p.key.x,BLK_SIZE*8);     // run the key schedule

        // now generate the vectors

        for (p.micLength  = 8;p.micLength  <12;p.micLength+=2)

        for (p.clrCount   = 8;p.clrCount   <16;p.clrCount+=4)

        for (len          =32;len          <64;len*=2)

        for (i            =-1;i            < 2;i++)

            {

            p.pktNum[0] = (k) ? Random32() : pktNum*0x01010101 + 0x03020100;

            p.pktNum[1] = (k) ? Random32() & 0xFFFF : 0;    // 48-bit IV

            p.length    = len+i;           // len+i is packet length

            p.encrypted = 0;

            assert(p.length <= MAX_PACKET);

            for (j=0;j<p.length;j++)       // generate random packet contents

                p.data[j]=(k) ? (u08b  ) Random32() & 0xFF : j;

            pktNum++;

            printf("=========== Packet Vector #%d ==============\n",pktNum);

            ShowBlock(&p.key ,"AES Key:   ","\n",0);

            ShowAddr (&p);

            Generate_CTR_CBC_Vector(&p,1);

            }

        }

    return 0;

    }
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